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__Example | Find. _sin 368°51° P sl BT
S T - 61218’ | 2y’ 30’ 36° y2'yg’sy’|
| 36| 0.58¥8 | | 5990 |
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Diflerence. to add
A
Since._8in 36° 51’ = sin C?.A'VR,'/‘ 3,,3
_ From table.
sin 36°4Y8’ = p.5990
_ [see the number in the yow aaaau‘nﬂf 36°anv/17
in the column headed 48’ /

J— |

diff for 3’ = 0.0007 (To_add)

Eee the number in the same row and wundey 3_5]

There fore,  sin 36° 51" = 0.5997

Exxample. 2 Find tan 38° 2%’

We have. , 38°23% = -33° 4%+ 3°

In the itable of natural éan(f/ents;ﬂoo/c at the

number in the row againsi‘ 28° and. in the
column headed 9(4/,. as shown below -

From the Table of N%n%g{;
x° o’ le’li2rug’| 2y’ 30136’ 42"y 8’ |5Y”

38" | 0-7813 0.7926
{an AR°sYy’ = 0.72924 P’ 2/ 37 Y’ &7
diff for3’ = 0-001Y (To add) 1Y

S dan 38° 5% = p.7926 + 0.00l% = o -F9%0
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